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RELACAO DO AGO
2xP1 P2 P4
P5 P6 P7
P8 P9 P10
2xP11 P13 P14
P15 P16
ACO N DIAM | QUANT | C.UNIT C.TOTAL
(mm) (cm) (cm)
CAB0 1 5.0 211 39 8229
2 5.0 101 147 14847
3 5.0 60 104 6240
CA50 4 6.3 166 40 6640
5 6.3 125 148 18500
6 6.3 74 105 7770
7 6.3 97 47 4559
8 6.3 56 158 8848
9 6.3 82 115 9430
10 6.3 60 42 2520
11 8.0 26 46 1196
12 8.0 15 158 2370
13 8.0 22 115 2530
14 10.0 52 45 2340
15 10.0 42 149 6258
16 10.0 20 107 2140
17 16.0 100 257 25700
18 20.0 72 257 18504
RESUMO DO AGO
ACO DIAM C.TOTAL PESO + 10%
(mm) (m) (kg)
CA50 6.3 582.7 156.8
8.0 61 26.5
10.0 1074 72.8
16.0 257 446.2
20.0 185 502
CAB0 5.0 293.2 49.7
PESO TOTAL
(kg)
CA50 1204.3
CAB0 49.7
Volume de concreto (C-30) = 6.50 m?

Area de forma = 67.60 m?
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